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Section 7-7:  Energy Storage in an Inductor 
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Section 7-8: Series and Parallel Inductors 
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Section 7-9: Initial Conditions of Switched Circuits 
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Section 7-10: The Operational Amplifier and RC Circuits 
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The equation for the inductor current indicates that this current changes instantaneously 
at t = 3s. This equation cannot be correct. 

We need to check the values of the inductor current at the ends of the intervals. 

The equation for the inductor current indicates that this current changes instantaneously 
at t = 4s. This equation cannot be correct. 
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Design Problems 
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